
 200 
 1

00
 

 220 
 1

30
 

 1
60

 
 1

91
 

 200 

 8
4 

463

Fixings: X1 M8 x 70mm Coach bolt
             X1 M8 X 90mm Coach Bolt
             X1 M8 X 100mm Coach Bolt
             X3 M8 Binks Nuts
             X3 M10 Spring Washers
             X1 Vesa Fixing Pack
           
 

B

C

D

1 3

A

321 4

B

A

5 6

Created By

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS

SURFACE FINISH: Powder Coated
Material:

Gauge:

DO NOT SCALE DRAWING

DRW - REV

Description

Part Number & Part Revision

SCALE:1:3 SHEET 1 OF 1

C

WEIGHT: 2.78

Ass--20007609  REV - A-028

SSV1 Double Articulated Vesa wall Arm

REV - 
A-028

2

Unicol Engineering
Green Road
Oxford OX3 8EU

Bend Tool:

Kg

System 
Administrator

See Below - Special NotesSaved Date: 13 September 2022

Created Date:  24 August 2021


	Sheet1
	Drawing View9
	Drawing View10
	Drawing View11


